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INSTRUCTIONS TO THE CANDIDATES .
This Question Booklet is printed in Hindi and English languages. Candidates should select any
one of the two languages according to their convenience.
The Question Booklet contains 100 questions. The examinee should verify that the requisite
number of questions are printed in the Question Booklet, otherwise he/she should ask for another
Question Booklet.
All questions are compulsory.
All questions carry equal marks.
'The cover page indicates the number of pages in the Question Booklet. The examinee should
verify that the requisite number of pages are attached in the Question Booklet, otherwise he/she
should ask for another Question Booklet.

Read carefully the instructions given on the Answer Sheet (OMR Sheet) supplied and indicate
your answers accordingly.

Kindly make necessary entries on the Answer Sheet (OMR Sheet) at the places indicated and
nowhere else. .

Examinee should do all rough work in the space meant for rough work on pages given at the end
of the Question Booklet and nowhere else, not even on the Answer Sheet (OMR Sheet).

If there is any sort of mistake either of printing or of factual nature in any question, then out of
the Hindi and English versions of the question, the Hindi version will be treated as standard.
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(A) 31

(B) 32

(C) 30

(D) 33

<t derelt # & o e, el ve i @ T 3| O

S i e il T R |l i et
INET 44 B, T gQ I g R

(A) 108

(B) 22

(C) 36

(D) 72

et ol U AT, weedt dfem F 23 e & N g,
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(A) 10

B) 15

(C) 17

(D) 18

e e e sfwent &, Tere S B
2,0, 18, 29, 43, 57, 74

A) 9

(B) 43

© 29

(D) 74
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In a row of girls, Rama is 10 to the left
of Radha and Radha is 17 from the right
end. Sheela is 4™ from right of Rama. If
Sheela is 10" from the left end, then how
many girls are there in the row ?

(A) 381
(B) 32
(C) 30
D) 33

Of three numbers, the second number is
twice the first and thrice the third. If the
average of the three numbers is 44, the
largest number is :

(A) 108

(B) 22

(©) 36

(D) "72

In a flower bed, there are 23 rose plants in
the first row, 21 in the second row, 19 in
the third row and 5 rose plants in the last
row. The number of rows in the flower bed
15 &

(A4) ‘10 ,
(B) 15 .
© 17
(D) 18

In the following number series, find out
the wrong number :

2,9, 18, 29, 43, 57, 74
@a 9
(B) 43
(C) 29
D) 74

5.

(3-A)
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One morning during sunrise, Ravi was
standing facing a pole. The shadow of the
pole was forming on the left side. Ravi
was facing towards :

(A) South
(B) North
(C) East
(D) West

Which of the given answer figure is the
correct mirror image of the question
figure, when the mirror is held at RP ?

Question figure :
R

(A)

(B)

©

D)
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7. ‘TRAINING' %= & &Rl %I FET ik
Frfefga & & S8 weg %1 fmior 78 e s
THATE ? ) '

'(A) GAIN
(B) RAIN
(C) RING
(D) KING

8. frem e TRART;

%) (&
6 |9 ‘ 7 1.8

44
64
60
54

(A)
(B)
(©
'(P)
9. i T Gikfgw WrT #, MANAGER = 34,
DIRECTOR = 35 3R ASSISTANT = 36
2, O 3 gikfa T § STAFF st e s@
(A) 14 :
B) 41
(C) 33
(D) 23

ferelt wishli® wiar & ‘ROAM’ =i ‘URDP fer@n

SiraT @ | It Finfae v §SHAN' %t 3% farar

ST ? :

(A)

B)

- ©
(D)

10.

VKDQ
VSDI
VUFK
GHSP
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12.

13.

14.

(4-A)

(D)

(D)
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[ 9
(A)
(B)
©

56
60
64
65

30 feaat & et e 7, sifew Rew wfar & 1@
178 35 =18 HeTaR At T Refieh B4 2

@ 20 ¢ '

B) 21

C) 25

(D) 26

afs Tt ffia @52 s & ‘bir le nac’ 7 oef B

‘ereen and tasty’; ‘pic nac hor’ @ @
‘tomato is green’, d1 Frfafan d & #+-w
(EESEESEERE ]

(A) ‘bir =T #F ¢ ‘green’ . L »
(B) ‘nac’ @319 g “tomato’

(C) 1e’ 32 ‘tasty’

‘nac 1374 2 ‘green’

o frve Reemd, 2w Reerer ¥
Fafafaa g @ sar e sraadie?
(A) wft e e, S et 1

(B) " 7o ke R, Y e 1 81 -
(©) Fo A Raene), gt e =i €

(D) T fophe R, St Resret €
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Which of the following words cannot be
formed using the letters of .the word
‘TRAINING’ ?

(A) GAIN
(B) RAIN
(C) RING '
(D) KING

Find the missing number :

e

Qﬂ N

(B)
(&)
(D)

64

60

54 c

If in a code language, MANAGER = 34,

DIRECTOR = 35 and ASSISTANT = 36,
then STAFF will be written in the same

- code language as :

(A)
(B)
(C)
(D)

14

41 FR )
33 '

23

In a code language, ROAM’ is written as|

‘URDP’. How will ‘SHAN’ be written in
the same code language ?
(A) * VKDQ

(B) VSDI

(Cy VUFK .

(D) GHSP.

(5-A)

11.

12,

13.

14.

GET IT ON
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A person has to touch the top of a tower of
60 feet height. In every second, he climbs
5 feet, but slips down 4 feet. In how many
seconds would he touch the top ?

(A) 56
(B) 60
(C) o4
(D) 65

In a month of 30 days, the last day is
Saturday. What will be the date on 'the
fourth Tuesday of that month ?

(A) 20
B) 21
© 25,
D) 26

If in a certain code language ‘bir le nac’

.means ‘green and tasty’; ‘pic nac hor’

means ‘tomato is green’, then which of the
following is definitely true ?

(A)
(B) .
(C)
(D)

‘bir’ means ‘green’
‘nac’ means ‘tomato’
‘le’ means ‘tasty’

‘nac’ means ‘green’

Some cricket players are tennis. players.
All tennis players are hockey players.
Which of the following is definitely true ?

(A) All cricket players are hockey
- players.
(B) Some cricket players are not hockey

players.
(C) Some tenﬁis players are not hockey
players.
(D) Some cricket players are hockey

players.
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17.

PE/11/2024

T 3T FHAHRT <l e =01 8, 5t Faet aengi 8 9
13 '

5 10
6 3 8

N

(A) 14
®) 10

() 4
(DY 13

Trrferfiae 7 & - Tive Tere;, Ft S O %
o g =S U Fl qulaT R 2

(A)

¥e:
©) O

A x o 31 - B, + o w1 4 B, + oo+ B
3R — 1 3 x , o Frafafes A 98 gewa
HaRe At :

1. 15-5+5x20+10

-2, 8§+10-3+5x6

3. 6x2+3+12-3
4, 3 +7-5x10+3
(A) 4,1,8,2
B) 2,4,3,1
(C) 4,3,2,1
D) 2,4,1,3

2 b

2 2

18.

19.

20-

(6-A)
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(A), 37
(B) 85

(C) 67

‘D) 53 -

o Bt o frm & T we 1A ¥y
T 8 | 3 4S T 7 nifadt 1 i €, o
forame & ot e T ¥ 2 '

(A) 104

(B) 98

(C) 97

(D) 95

18 St ¥ G g , 10 5 wat § 11 s
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© 3

D) 4
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15. In the figure given below, triangle 18
‘represents doctors, circle represents )
players and square represents artists. D and E scored an average of 41 runs. D
Then what is the number of artists who '
are players only ?

In a cricket match; five batsmen A, B, C,

scored 5 more than E; E scored 8 fewer

than A; B scored 5 fewer than D and E

13
5 10\. ) combined; B and C scored 117 between
6 3 8 them. How many runs did C score ?
4
P | (A) 37
(A) 14
B) 10 (B) 85
C) 4
ED; 13 (C) 67 '
16. Which of the following diagram indicates (D) 53

the best relation between Rose, Flower
and Mango ?

A) T ' 19. A printer numbers the pages of a book
starting with 1A. If 4S is the last page of
| ’ the book, then how many pages are in the
(B) @[D ' ' book ?
(A) 104 ;
c@O - | o
(Cy 97

17. If x stand for —, <+ stands for +, + stands

for + and - stands for x, then arrange the ' '
following in increasing order : ..[|20. In a group of 18 people, 10 read French,

1. 15-5+5x20+10 11 read English, while 6 read none of

2. 8+10-3+5x6 ,
3 6x9+8+12_3 A these two. How many of them read both

4, 3 +7-5x10+3 French and English ?
Choose the correct answer from the code

given below : . (4) 6
Code: (B) 9
A) 41,32 '

(B) 2,4,3,1 (C) 3
(C) 4,3,2,1

D) 2,4,1,3 D) 4

PE/I1/2024 ((7-A)
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21, =3l A1 wg ot Ut et =) B e 8, weg

22,

23.

24,
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R o Haw IH SHEva GHad 8 ;
(&) fm
(B) wH&n

(C) =g
(D) #AWES

Yig U9 et W] GHIEH Hise @ 3ifay ug =

2?

(A) wwEr auTE™
(B) b formeq A
(C) feufa =1yt
(D) Fvia s

Terdll Tt o wmarT & 92 gu S A @ ¥ A
FHRETET T JieHT GERE ik R gg9H @ =
& FE @S|

(A) we FHTE

(B) W& TS (Sit)

(C) Aok frufror

(D) . T i qTfeherar & |HgAT

YA HR R e yEdm |
(A) T e AT femfta s

(B) ey Fuifas@

(C) THASTTAR

(D) dureERt FY ygaH HH
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25. T T rare frer wianft # gt e

26.

27.

(8-A)

EQRZRECIRSGINA

(A) faeemor

(B) Ffefiemar (wifim)
(C) ==

(D) s=&

U i wR@r () § it 78t 8

(A) HTamfeas?

(B) W w2 ?

(C) FATER?

(D) TTTEAWE?

P Fofr e B e E |
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21. A condition of people or a group that 25. An environment in which the participants

are free to ‘think aloud’ is

exists, but members of the group consider
that undesirable is :

(A4)  Rule (A) Analysing
, (B) Problem
(B) Brainstorming
(C) Law :
(D) Parameters (C) Discussion

(D) Debate
92. Which is the last step of the Five-Step

Problem Solving model ?
(A) Problem solving

(B) Selection of an alternative

) 26. Problem parameters do not include
(C) Evaluation of the situation

(D) Decision-making (A) Whois involved ?

(B) Who is not involved ?
28. The process of identifying and selecting a

course of action from two or more courses (C) What is happening ?

of action to be taken to solve a problem is
2:11 G S— (D) What the stakes are ?
(A) problem solving

(B) appreciative inquiry
(C) decision-making

(D) rationalizing the problem 27. Routine decisions are in nature.
24. Implementation of the solution starts (A) Internal
with

(A) developing an action plan (B) Constant

(B) determining objectives (C) Irrelevant

C) buildi 1
(€) building a plan (D) Repetitive

(D) identifying resources

PE/II/2024 (9-A)
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28. giﬁﬁ?mmww 31. mlgsﬁfﬁqwﬁﬁwmﬁwﬁam
w%%%ﬁmwz ?{G&W‘m’ra TS iy
(A) R Rty mmm4 , ff TR T | 9 T8 92 96 ] °F
BN
(B) g fvig (A) 68
. (C) 88
(D) e filg (D) 98
82, fiifan el ¥ ¥ wwd wem
. gt 5,11, 17,28, .. #%9
29. ook e ol o ey S it o wefea @ A 179
(B) 189
(A) 13 fofg 7=t (©) 169
(B) wmw | (D) 159
(C) 3 33, -ofFt anelt Wit wEel, S 7 @ fnrew €
(D) ST (STT) AailE
(A) 127
(B) 128
) 129
D) 130
30. it fofat & ofomg BAE|
(A) I 34. W0, 1,2, 3,4, 5 & freft 3-orbiw v g
N ?ﬁmmiaﬁeﬁaﬁﬁgw@ﬁraﬁmw
(C) ﬁ‘g&-grq (A) 90
. | B) 216
ST (Cy 75
(D) 150

PE/I1/2024 (10-A)
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" 28, A decision taken by an individual in the |31, Number 198 is, divided into three parts

‘ such that L of the first part, %rd of the
second part and i—th of the third part
shall all be equal. Then the value of the

: drg'al_rlisation is known as“
(A) Individual decision
(B) Group decision
(C) Collective decision

(D) Separate decision

32.
29. Attributes of an effective decisiﬁn’ maker
include
(A) No jud;gement
(B) Risk takiﬁg
(C) Rigidness 33,

(D) Comprehensiveness

30. ‘The outcomes of mechanistic decisions are

34.
"(A) known

(B) unknown
(C) hidden

D) irreievant

PE/I1/2024 | C(11-A)

largest part will be :

(A)
(B)
(&)
(D)

68
78
88
98

Which of the following number is in the
list of numbers 5, 11, 17, 2:":, v ?

(A)

©)

D)

179

189.
169
159

The number of all three-digit numbers

that are divisible by 7 is :

(A)
(B)

©)

127
128
129

(D) 130

How many 3-digit even numbers can be
formed, using the digits 0,1, 23, 4,5,if
repetition of the digits is allowed : '

(A)
(B)
(C)

90
216
75

(D) 150
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35, Tfifla stwsi Hrwlagmre - 88. I 52 Te i U welt-uify v e A @
17,8,9; 5, 26, 19, 13, 26, 29 T ORI Argedn e S # | Bt e w6

(A) 13 T TN ST e (37 S i) B < Rrear
(B) 17 _ 8
(©) 18 (A) 1
(D) 19 ' B %

36. fwrife ward et afem ¥ SR AE B O 9
W R A e R | O 13
W M 9T Wi A @ 18,000 2, & 3 ue o 3

IS SR e TR T @ AT 13

39. U SR % U Pram W ¥ £ 9,000 ¥ | 3w
' T 8,500, 6% WHRT S T AR W F w
% 3,000, 5% WrEwur =AW it aiffe & fay
FAT Y | T 450 TRF 37791 w1t e 3 g, 30 9y

Ufr fopmr g @ R st =l 2
(A) 36% wimad
(B) 3-5% wfdaad
(A) %36,000 (C) 3-8% wiwad
(B) 45,000 | (D) 3:9% wfrad
(C) ¥36,600
(D) T45,600
- 40. Ife TF ¥&T 52108, 11 ¥ yoia: R 2,
37. 4 wurrd ooy deett @ oftwd 18 ¥ | W wEmel| ”‘_:mma a AR
) a :
0 ol o R SIS o & .
A) 187 @1 '
(B) 247 _ (B) 2
(C) 315 €y 3
(D) 891 D 4

PE/11/2024 S (12~A)
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85.. The median of the following data is . 188. One card is drawn randomly from a
17, 8,9, 5, 26, 19, 13, 2?’ 29 . _ well-shuffled pack of 52 cards. 'The
@4 13 probability of the drawn ceird being a face
B) 17 '
(B) card is :
(C) 18 .
| ™ 19 . @ 1 :
o ® '
‘ 36. The following pie-chart shows the
| monthly expenses and savings of a family. (C) 2
If the expenditure on the house rent is 13
¥ 18,000 per month, then the sum’of the D) 3.
expenditure on food and transport is : 13

39. A man has ¥ 9,000 to invest. He-invests

T 3,500 at 6% per annum simple interest

: ’ House rent
15%

and ¥3,000 at 5% per annum simple

Education interest. In order to have a yearly income
of T 450, at what rate must he invest the

remaining amount ?

(A) 36% per annum

(B) 3-5% per annum

i (A) 736,000 (C) 8-8% per annum .
. (B)Y ¥45,000 |
(C) ¥36,600 _(D) 3:9% per annum
(D) %45,600 )

) . - 40, If a number 5al108 is completely divisible
37. The average of 4 consecutive odd numbers by 11, then the value of ‘a’ will be :
is 18. Then the product of the largest and : _ :

i smallest numbers among them is : oo A1
' (A) 187 B) 2
(B) 247 . o © 3

(C) 315
: (D) 4

| (D) 391

PE/11/2024 (13-A)
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. eI YEHUT 3T Taferar 3 for wiga &t ot & w1g
I G H TR S T E | Ol ST 3 Sveaad
<l AR i 7 Faw AR Rari R ST 6 qar &y
fentrs i 3, it gt SIS ST wiiert Tt 3 wowar Iy,
gt o for TN IO aur AR wWee & o O
qitafdd @ 2 | ol 75 T e € el v R
THTET ! TG AT § | m@wm%a@ﬂwsﬂ
mﬁmw%lwﬁmﬁmmﬁ TR,
TR, Y ST der R e Rt %
aﬁa%ﬁ%mﬁam%mmwwwﬁa
RIHehh T & e SR gy s s 2 |

TRERIEE, At % 3TE 30 SW U Y 9 9
fort S oRr 1970 % WP 9 € i B IE R TH B
a5 et <l wag W Rud dial gR SW i o Ie feg
I RIS 6T HIG At L €, T §9 T ST o et
I Wag W feo wgedt g srEeltEa U SN
ISSIErT IR FaRT Al gYET I S At IHE o
Hieft ST Yo e e |

T TS Y T OF iR Hiteget o W & S S |
Gt 2, St AT 3 SR qAT I A i G TR |

SeRII <k SIS At gt § | R fora Y st Sesaema
T TR S A AR o ¥ ey
Terenfirer wredt &ft ofR it ommaet ey @5t~ <t 3 ) we
SR Y <h! e seRr Sam R § |

Prafafen & @ 2 il & senfie smve & wive
T 27

(A) v

(B) 3w fot yamar

(C)' TeRTeT =

(D) UEhI TSRt

41.

PE/I1/2024
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42. YT TGO I H HT YL T el ST S ?

(A) @%mwwﬁw%w&m’m
H e dard |

®) RT: Tft T STy & T v ¥ |
(©) ih ATy e S 3ewr 3o
BT 8, T SRl sy el ot |

(D) mmwmm?ﬁwm
AT HLAT R |

I ISwaerel S¥7 dTet FHF Ffoiad § @
-4t st s st e R E
(A) TF TR T ST FETOT T ST
" (B) AR AT ST WHRT A GO

(C) forenfira et &5 o =it Sredt arer &t
RIS SGIOT 1 5,

(D) T e & e A s

43.

T TN S SR AR ST Y S S & A
TR TR ? |

(A) ST ST

B) "ARE

(©) wumefex

(D) ST AR
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Passagel..

Light pollution is one of the most rapidly
growing threats to our environment. The
resultant increase of brightness of the night sky
is not only damaging our view of the starry sky,
but is altering our perception of dark and
inoonlit nights and: even our physical and
mental health. It is only recently that these
effects of outdoor lighting have been recognised.
Light pollution also indicates wasted energy,
since upward directed light does not usually
provide useful or intended illumination.

Dealing with light pollution and its adverse

effects is a complex issue with potential
conflicts of interest between the utility
providers, environmentalists, astronomers, the
lighting industry and various governmental
agencies.

Satellite images lookmg down at the
Earth at night have been available since the
early 1970s. They measure the light beamed
upwards from sources on the Earth’s surface
but do not give any direct information about
the effects of this light pollution on the night
sky brightness, as observed by humans on the
surface of the Earth, or about its impact on the
visibility.

These effects may be calculated by

including a physical model of the effects of|..

scattering of light by air molecules and other
small particles. Maps that show this calculated

42,

43.

44.

sky brightness have now been prepared for the|

entire world and provide a vivid record of
growth of light pollution in both developed

‘urban areas and densely populated areas.

41. Which one of the following is not involved

in the potential conflict of interests ?
(A) Environmentalists

(B) Satellite image providers

(C) Lighting 1ndustry

(D) Government agenmes -

PE/I1/2024
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Why is light pollutlon called a wasted
energy ?

(A) Because light pollution damages our

. perception of the dark.

(B) Most pollutions are wasteful.

(C) Because upward directed light which
causes light pollution does not
provide the intended illumination.

(D) Because light pollution is” wasting

-our power of visibility.

Which of the following information are the
maps showing sky brightness additionally

furnishing ?

(A) Effect of light pollution on the night
sky ' o

(B) Scattering of light by air molecules

(C) Growth of light pollution in
developed urban areas and densely
populated areas

(D) Light beamed upward from the

Earth’s surface

What according to the passage is rapidly

threatening our environment ?,

(A) Light pollution

- (B) ) Maps
(C) Satellite images
(D) Stars in the sky

What is damagmg our view of the starry

sky?

(A) Increasing darkness of the sky

(B) Increasing brightness of the night
sky

(C) Increasing water pollution

(D) Increasing mental inertia
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Passage II

We must have these four sorts of ideas.
We must have friendship for all; we must be
merciful towards those that are in ‘misery,
when people are happy, we ought to be happy
and to the wicked we must be indifferent. So
with all subjects that come before us. If the
subject is a good one, we shall feel friendly
towards it, if the subject of thought is one that
is miserable, we must be merciful towards it. If
it is good, we must be glad; if it is evil, we must
be indifferent. These attitudes of the mind
towards the different subjects that come before
it, will make the mind peaceful. Most of our
difficulties in our daily lives come from being
unable to hold our mind in this way. For
instance, if a man does evil to us, instantly we
want to react evil, and every reaction of evil
shows that we are not able to hold the chitta
down; it comes out in waves towards the object,
and we lose our power. It is not that we lose by
thus restraining ourselves; we are gaining
infinitely more than we suspect. Each time we
suppress hatred, or a feeling of anger, it is so
much good energy stored up in our favour; that
piece of energy will be converted into the higher

powers.

46. What kind of attitude should one have
towards an evil subject ?

(A) Indifferent

(B) Negative
(C) Friendly

(D) Merciful

PE/II/2024
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47. Identify which one of the following ideas
does the author not want us to have.
(A) We must be merciful towards people
in misery.
We must have friendship for all.

We ought to be happy towards
unhappy people.
We must be
wicked.

(B)
(C)

(D) indifferent to the

48. What follows when we suppress hatred or

a feeling of anger ?

(A) Tt comes out in waves towards -the
object.

(B) We lose our power.

(C) Good energy is stored up in our
favour. '

(D) None of the above

49. Which of the following statements is not
true with reference to this passage ?

(A) Each time we suppress hatred, we
see so much good energy stored up in
our favour.

(B) We must be merciful towards the
miserable ones.

(C) Every reaction as hatred or evil
leads to loss of mind.

(D) If a man does evil to us we should
react in the form of hatred.

50. How should we treat a miserable subject ?
(A) Show anger

(B) Be indifferent

(C) Be merciful

(D) Express hatred

A)
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51. Which of the following organisational

(B)
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communication is not defined by the

organisation’s structural hierarchy ?
1. Formal communication
2, Informal communication

Choose the correct answer from the code

given below :

Code:
tA) 1 oniy‘

2 only -
(C) Bothland2

(D) Neither 1 nor 2

52. Which of the following is an example

of the

commmunication ?

non-verbal  component  of

1. Whatyousay?
2. How yousay?

Choose the correct answer from the code

given below :
Code:

(A) 1lonly .-
(B) 2only
(C) Bothland?2

(D) Neither 1 nor 2

53.

54.

55.

GET IT ON
Google Play

With reference to effective persuasion
skill, which.of the following statements
is/are correct ?

1. It starts with stating the importance
of following a course of action and
the likely benefits.

2. It starts with stating the pros and
cons of following a course of action.

Choose the correct answer from the code
given below :

Code:

(A) 1only

(B) 2only

(C) Both 1and 2
(D) Neither 1 nor 2

Which of the following is
communication skill ?

1. Persuasion skill

2.  Speaking skill

3. Writing skill

4. Conceptual skill

Choose the ‘correct answer from the code
given below :

Code:

(A) 1lonly

(B) 2only

(C) 3only

(D) 4only

not a

With reference to persuasion skill, which
of the following statements is/are correct ?

. 1. It enables a person to influence

- others to change their minds.
2. It enables a person to influence
others to change their behaviour.
Choose the correct answer from the code
given below :

Code :

(A) 1only

(B) 2only

(C) Both1land?2
(D) Neither 1 nor 2

(19-A) -
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56. Consider the .following events in the|59. Consider the following steps related to

communication process and arrange them
in chronological order :

1. Message

2. Sender

3. Encoding

4, Channel

5. Decoding

6. Receiver

7. Feedback

Choose the correct answer from the code
given below :

Code:

A 1,2,3,4,5,6,7
B) 2,1,3,4,57,6
(C) 2,1,3,4,5,6,7
(D) 1,2,4,3,5,6,7

57. The function of communication includes :
{A) Controlling employee behaviour
(B) Motivating empioyees'
(C) TFulfilment of social needs
(D) All of the above

58. With reference to organising your content
in communication, which of the following
statements is/are correct ?

1. - It includes a story that engages the
audience.

2. It includes use of data or other
information to help the audience to
understand the problem at hand.

Choose the correct answer from the code

given below :

Code :

(A) 1only

(B) 2only

(C) Both1land2

(D) Neither 1 nor 2

PE/11/2024 (21-A)

60.

practising the skill and arrange them in
chronglogical order :

Know your audience.

Organise your content.

1
2
3.. Prepare compelling visuals.
4. Calm yourself.

5

Focus on your presentation.

Choose the correct answer from the code
given below :

Code:

(A) 5,4,3,2,1

(B) 1,2,3,4,5 |

© 1,3,2,4,5

D) 2,1,3,45

With reference to practising

. communication skills, which of the

following statements is/are correct ?

1. TUnderstanding your audience and
their needs can help you tailor your
message.

2. Understanding your audience and
their needs can help you tailor your
subject matter. )

Choose the correct answer from the code
given below :

Code:

(A) 1lonly

(B) 2only

(C) Bothland2

(D) Neither 1 nor 2
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